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Au2.1 @ Au2.1
1 One less than four is 1) One less than four is
2) One more than 8 is 2) One more than 8 is
3) Write <, > or = in the circle. 7 O ::.:. 3) Write <, > or = in the circle. 7 O ::.:'
4) Write <, > or = in the circle. :v¢ O 5 4) Write <, > or = in the circle. :': O 5
5) Write <, > or = in the circle. 9 O cooe 5) Write <, > or = in the circle. 9 O cose
6) Complete the part 6) Complete the part
whole model. whole model.
7 Complete the 6 + =10 7 Complete the 6 + =10
missing number. E— missing number. E—
Use the number lines to complete the subtractions. Use the number lines to complete the subtractions.
8) T T T T T T T T T 1 6-4= 8) T T T T T T T T T 1 6-4=
0123 4567 8 910 T 01234567 8 910 T
Use the number lines to complete the subtractions. Use the number lines to complete the subtractions.
9 T T T T T T T T T 1 8.3= 9 T T T T T T T T T 1 8.3=
0123 4567 8 910 - 01 234567 8 910 o=
Use the number lines to complete the subtractions. Use the number lines to complete the subtractions.
10| T T T T T T T T T T 5.2= 10 ™7 T T T T T T 7177 5.2=
0123 4567 8 910 e 0123 4567 8 910 e
@ QUIBRIOIS: 2 || @ QUIEK
1) One less than four is 1) One less than four is
2) One more than 8 is 2) One more than 8 is
3) Write <, > or = in the circle. 7 O .':':' 3) Write <, > or = in the circle. 7 O .':'g'
4) Write <, > or = in the circle. :v: O 5 4) Write <, > or = in the circle. :v: O 5
5) Write <, > or = in the circle. 9 O S 5) Write <, > or = in the circle. 9 O ceee
6) Complete the part 6) Complete the part
whole model. whole model.
7 Complete the 6+ =10 7 Complete the 6+ =10
missing number. B— missing number. E—
Use the number lines to complete the subtractions. Use the number lines to complete the subtractions.
8) T T 1T T T T T T 171 6-4= 8) T T T T T T T T 11 6-4=
0123 4567 8 910 - 01234567 8 910 -
Use the number lines to complete the subtractions. Use the number lines to complete the subtractions.
9 T T T T T T T T T 1 8.3= 9 T T T T T T T T T 1 8.3=
0123 4567 8 910 o7 01 23 4567 8 910 0T
Use the number lines to complete the subtractions. Use the number lines to complete the subtractions.
LL* )20 [N e e B B S S e 5.2= LL*2 20 [ e e s B 5.2=
0123 4567 8 910 - 0123 456 7 8 91 -




